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QUESTION 1

A company is launching a new multinational AEM site. The new site will have a large pool of authors all over the world.
The company needs to be sure it can handle the load.

The load requirements for the new site are as follows:

A daily load scaling from 100 to 1000 authors Create multiple pages and live copies (including MSM rollouts) Upload
multiple images into Assets Assign 1000 tags to each new pages

What can the DevOps Engineer do to make sure the AEM instance can handle the load?
A. Set up a cold standby instance

B. Use standard Cloud Manager tests

C. Set up auto scaling

D. Use Adobe Tough Day 2

Correct Answer: D

QUESTION 2

A DevOps Engineer has cloned an environment, and configurations must be adjusted for the environment to function
correctly. Due to the cloning, the domain and IPs changed during the process.

Specifically for content activation, which two parts of the configurations must be altered? (Choose two.)
A. The user of the flush agents

B. The transport URI of the replication agents

C. The transport URI of the flush agents

D. The transport URI of the dispatcher configuration

E. The user of the static content agent

Correct Answer: CE

QUESTION 3

A DevOps Engineer notices that existing pages are not updated through a package installation. The updated pages are
present after deleting the pages that are not updating, and reinstalling the package.

What is the source of the problem?

A. Install mode is set.
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B. Update mode is set.
C. Merge mode is set.
D. Replace mode is set.

Correct Answer: B

QUESTION 4

What supported web server should a DevOps Engineer use when setting up the dispatcher version 4.3.1 in a Unix
environment?

A. Nginx 1.14

B. Apache 2.0
C.lIS7.5

D. Apache 2.4
Correct Answer: D

Reference: https://docs.adobe.com/content/help/en/experience-manager-dispatcher/using/getting-started/ release-
notes.html

QUESTION 5

According to Adobe best practices, how should a DevOps Engineer tailor the OSGi service configurations depending on
the type of environment?

A. Leverage configuration files in runmode dedicated folder
B. Leverage multiple content packages for each environment

C. Use environment variables to identify the instance and environment type, then load the appropriate configuration files
accordingly

D. Provide default configuration in the content package, and apply the differences using the OSGi console

Correct Answer: A
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